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(-1 2. Write the equation for a parabola,with a vertex of (-7,5) "
-~ | that goes through the point (-5, 13). 5 ‘L b H
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5. Write the equation for a parabola with a vertex of (-3,-5)
that goes through the point (-6, -23).
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6. Write the equation for a parabola with a vertex of (4,8)
that goes through the point (16, 80).
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Completiwng
the square to

y=x"+6x+15
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u=(X+3)+6

convert a Quadratic to ¢

10. Rewrite the quadratic in ertego rm by completing the square. Then graph
the parabola and find jhesequested information.
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. 11. Rewrite the quadratic in vertex form by completing the square. Then graph
the parabola and find the requested information.

y=x+6x8 +5
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12. Rewrite the gquadratic in vertex form by using x - % Theh graph the

A
2a

-7 = - 2.
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13. Rewrite the quadratic in vertex form by using x :é_b.. . Then graph the 1
d

parabola and find the requested information.
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